ApxaHrenbck (8182)63-90-72
AcTaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
Baprayn (3852)73-04-60
Benropop (4722)40-23-64
BpsiHck (4832)59-03-52
BnagusocTok (423)249-28-31
Bonrorpag (844)278-03-48
Bornoraa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuH6ypr (343)384-55-89

Mo Bonpocam npoaax u noaaepxku obpallantecs:

VBaHoBo (4932)77-34-06
WxeBck (3412)26-03-58
KazaHb (843)206-01-48
KanuHuHrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

Juneuk (4742)52-20-81

MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93

HabepexHble YenHbl (8552)20-53-41

HwxHuin Hosropog (831)429-08-12
HoBoky3HelLk (3843)20-46-81
HoBocwnbupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeH3a (8412)22-31-16

Mepmb (342)205-81-47
Pocros-Ha-[loHy (863)308-18-15
PssaHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
Capartos (845)249-38-78
CeBacronons (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coum (862)225-72-31
Craspononb (8652)20-65-13

EavHbin agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

SEcTION 10
JUNCTION SYSTEMS

Cypryt (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsaHoBck (8422)24-23-59
Ydpa (347)229-48-12
XabapoBck (4212)92-98-04
YensbuHck (351)202-03-61
Yepenosel, (8202)49-02-64
Apocnasnb (4852)69-52-93




CONEC® 301




SAL M8x1/M12x1 Y-SPLITTER

Nomenclature

SIARLE- 1020 1-JYIsi4l-18] 1-J20RIKE N30 030 /030 /Jo3QKI

CONNECTION | | | l | |

ALLOCATION

302 SONEC®



SAL M8x1/M12x1 Y-SPLITTER

Product specification

Contact Cuzn

Contact plating Nickel plated, gold plated
Contact carrier TPU GF, UL 94 / PA, UL
Overmould TPU, UL 94, grey
Sealing FPM

Coupling nut/-screw GD-Zn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

M8 M12
Rated voltage IEC 61076-2-104 IEC 61076-2-101
Current rating IEC 61076-2-104 IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection IEC 60529 IEC 60529
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque M8: 0.4 Nm at SW 9
Recommended torque M12: 0.6 Nm at SW 13

Technical subject to change without notice.

CONEC® 303



SAL M8x1/M12x1 DUO-SPLITTER

Nomenclature

SIARLE-J1020 J-IDISE4)- 181 J-J20RIKE J3 N - 030/ Q030 /§KI

: I l \ | ' | \ | | l \

ALLOCATION

304 SONEC®



SAL M8x1/M12x1 DUO-SPLITTER

Product specification

Contact Cuzn

Contact plating Nickel plated, gold plated
Contact carrier TPU GF, UL 94 / PA, UL
Overmould TPU, UL 94, grey
Sealing FPM

Coupling nut/-screw Cu-Zn, nickel plated

Information on the following pages are basing on below mentioned IEC-standards.

M8 M12
Rated voltage IEC 61076-2-104 IEC 61076-2-101
Current rating IEC 61076-2-104 IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection IEC 60529 IEC 60529
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque M8: 0.4 Nm at SW 9
Recommended torque M12: 0.6 Nm at SW 13

Technical subject to change without notice.

CONEC® 305



SAL M8x1/M12x1/7/8" T-SPLITTER/ ADAPTER

Nomenclature

SIALLL- 1020 B QTUISHEJALATIKIEN4)-0 |- QROKQERAN-Jo3d QA

CONNECTION | || | | | | | | | | | ‘ |

ALLOCATION

306 SONEC®



SAL M8x1/M12x1/7/8" T-SPLITTER/ ADAPTER

Product specification

Contact Cuzn

Contact plating Nickel plated, gold plated
Contact carrier TPU GF, UL / PA, UL
Overmould TPU, UL 94, grey
Sealing FPM (M8x1, M12x1)

Coupling nut/-screw GD-Zn / Stainless steel

Information on the following pages are basing on below mentioned IEC-standards.

M8 M12 7/8"
Rated voltage IEC 61076-2-104 IEC 61076-2-101 IEC 60664-1
Overvoltage category IEC 60664-1 2
Current rating IEC 61076-2-104 IEC 61076-2-101 IEC 60512-3
Insulation resistance IEC 60512 IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1 IEC 60664-1
Degree of protection IEC 60529 IEC 60529 IEC 60529
Mating cycles IEC 60512-9a IEC 60512-9a IEC 60512-9a

Recommended torque M8: 0.4 Nm at SW 9
Recommended torque M12: 0.6 Nm at SW 13

Technical subject to change without notice.

CONEC® 307



308

< x O
T 3 03
% A ) —_ =
8 3 8 = =
g &8 & & ®
S S S S =
Qo je} (e} B E
S 3 3 S e
Q Q QS < S
= 5 5 § ¢
Contact assignment = = = & O Description Part No..
()
a
>
4 3 1 1.3 4 8
E*—T 3 3 3 ~N 3 SAL-8-YS3-2YK3 42-05102
L <
3 4 g
n
(@)
a
4 3 1 j 3 4 Z
l ]‘ ©
33 T \L 4 3 3 N 3 SAL-8-YS4-2YK3 42-05103
swo/ M8x1 1 S()
’ >
x\g:istgacoss_\ é ‘L‘ 8
‘ SW9/
Width arcoss
Vo flats 9 Q
4 321 123 4 Z
o
TTL”TTT 4 4 4 N 3 SAL-8-YS4-2YK4 42-05104
' <
i1 >
3 4 e
BTese3ed G2oasEr
[LTT]
8 8 8 30 15 SAL-8-YS8-2YK8 42-05105

Vo o)
A\ T4

INEC®

Technical information starting on page 348




L[m]

Wire cross section [mm?]

Number of poles side A
Number of poles side B
Cable length

Number of poles side C

Rated voltage [V]
Current rating [A]

Coding

TPU, UL, halogenfree, black, Li9Y11Y Contact assignment Description Part No.

SW13/
x\/\dlhsacross P,
SAL-12-YRS5-RK5

06 RK5-0,6/0,6/0,6/K1 43-05182

&

SAL-12-YRS5-RK5-
15 RK5-1,5/1,5/1,5/K1 43-05183

SW13/
Width across

flats 13

49

Mi2xt

3145

TPU, UL, halogenfree, black, Li9Y11Y

SAL12-YRS5-
03 2YK5.2-0,3/K1 4305189
543 21 12345
TLYY <
5 5 5 A 60 4 ™
@
]
i 0 SALIZYRSS: 4305190
Swi3/ 2 2YK5.2-0,6/K1
Width across
flats 13
SAL-12-YRS5-
03 Syk5.03/K] 43-05191
543 21 123 465
TLJT <
- 5 5 5 A 60 4 ™
O o
oy T
N Wit across i SALT2-YRS5
1 T - - -
fata e 0,6 2YK5.0,6/K] 43-05192
M12x1
@145
SAL-12-YRS8-
03 Sykg03/K] 43-05193
NL’H 2
. 8 8 8 A3 2 H
I
il SAL12-YRS8-
08 2¥k8.06/K1 4305194

Technical information starting on page 348 CONEC® 309



310

< @ o
3 3 3
;A ! v — —~
8 8 8 = £
s &8 8 § 2
S S S IS} S
(e} Qo (e} B E
S ) S > =
Q Q Q = S
s 55§ ¢
Contact assignment = = = & Q  Description Part No..
33
Swe/ M8x1
x:gtgarcoss\ 205 8
- :»}'/ R IRANATEE I g
v c T @
ol f) g A 4 3 3 S 3 SAL-12-YS4-8-2YK3 43-05185
Z” 1 N
¢ >
I\ b é ‘l‘ 8
SW13/
v Width arcoss
. Mi2x1 flats 13
543 21 12345
TLTT
5 5 5 60 4 SAL-12-YS5-2YK5.2 43-05186
]
[N ]
45
33
SW13/ M12x1
X‘;\ldsl? 3arcoss 205
12346
il
g 5 5 5 60 4 SAL-12-YS5-2YK5 43-05187
SW13/ IR
Width arcoss 40
flats 13
M12x1
8 8 8 30 2 SAL-12-YS8-2YK8 43-05184

Vo o)
A\ T4

INEC®

Technical information starting on page 348




—
<< @ O NE
g3 3 £E
[y [ [y ~
g 8 8==< 8 5
2 28 8 2 % =
D = I~ AT < ¥
Qo je} () = E m N
5 5 8 8 & & 8
S © 9 ©§ § S o
. S S5§5 &8
PVC, grey, LiYY Contact assignment = = = & G = O Description Part No.
154502 SAL-8-DS3-
o 03 JRk3.03/03/a1 4211780
—(a [a)
—s > SAL-8-DS3-
: < 3 06 Jrizo6/06/a1  AHIT7E
3.3 3 5 302
a— ! SAL-8-DS3-
s < 15 4211782
ot acoss :J® > 2RK3-15/1,5/A1
mn
SAL-8-DS3-
3 2RK33/3/A1 4211783
SAL-8-DS4-
. o 03 JRrka03/03/a1 4211788
(2 (=)
= > SAL-8-DS4- :
| 1 3 06 Jrkaog/06/a1  AXT789
> 4 4 4 N 302
e T LT < 15 ;ﬁtﬁ:?;‘; sop 4211790
L > ' '
' - 3 SALBDS 42-11791
2RK4-3/3/A1
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-DS3-
o 03 JRz03/03/k1  AENITE
—(4 [a)
—s > SAL-8-DS3-
i s 3 08 Jrkz06s06/k1  AENTTY
3.3 3 N 302
- ' SAL-8-DS3-
4 <C -
o EiJ@ > 1 oRasask A2TIT8
n
SAL-8-DS3-
3 RK33/3/K1 4211779
SAL-8-DS4-
G o 03 Rka03/03/k1 4211784
I — ] o
DS > 0g SAL8DS4 R
o ) 3 " 2RK4-0,6/0,6/K1
: 4 4 4 N 302
e T L T < 15 ;ﬁtﬁ‘?éj‘l s 42mse
e ] o Tl !
4 n
— ¢ SAL-8-DS4-
0104 3 JRKa3/3/KI 42-11787

Technical information starting on page 348

CONEC® 31




—
< @ O NE
338 £E
[y [ @\ ~
8 38=<s8 7
S 88 28§ s
D = I~ A <
Qo () () = E m <
5 5 8 8 & & 8
S 9 8 - § S ©
. S55:85¢%
PVC, grey, LiYY Contact assignment = = = & G = O Description Part No.
SAL-8-DS3-
03 2RKW3-0,3/0,3/A1 G
190 4—15‘4102 A ké)
e | —< 2 06 SALBDSS 4211797
: —C 3 2RKW3-0,6/0,6/A1
L.y 333 530
a—
L Z SAL-8-DS3- )
—o}@ z 15 JRkw35/15/a1 4211798
g Width across n
e SAL8-DS3-
3 JRKw33/3/A1 4211799
SAL-8-DS4-
03 2RKW4-0,3/0,3/A1 sallte
H(‘ 2
: SAL-8-DS4-
X > .
paneoess | [T 2 08 JRcwaog/06/a1  AF11805
8 2 4 4 4 : 3 025
i (O I St < SAL-8-DS4- _
L 2 'S Jrkwaas/15a1 421180
—(4 n
SAL-8-DS4-
3 JRKw43/3/A1 C Ul
TPU, UL, halogenfree, black, Li9Y11Y
SAL-8-DS3-
03 2RKW3-0,3/0,3/K1 4211792
190 15,4202 [®)
2202 - (a o o )
TN —<a > 06 “ALBDS3 4211793
: —C 3 2RKW3-0,6/0,6/K1
L.y 33 3 5 302
Y-y
L& Z SAL-8-DS3- )
o —c«]ﬁj z 5 JRkw3as/15k1 42T
- Width across N
flats 9
SAL-8-DS3-
3 JRKW33/3/K1 4211795
SAL-8-DS4-
b 2RKW4-0,3/0,3/K1 4211800
H(‘ 2
: SAL-8-DS4-
i i —C2 > X
N fas ™ : 3 06 Jrcwa06/06/k1 421180
~ 2 4 4 4 N 3025
P . g < SAL8-DS4- ]
D 2 ' rkwarsskn AE11802
—(4 n
SAL-8-DS4-
3 JRKW43/3/K1 4211803

312 CONEC® Technical information starting on page 348



=
<< @& O s
3 3 3 £ F
5 5w - =
g 88S<8§ 7
S o S > O
&8558 8§
S 8§ 8 3§ 8§ gy =
S$ § 8§ S & & S
S © 9 ©§ § S o
. S5 55 5¢gs
TPU, UL, halogenfree, black, Li9Y11Y Contactassignment = = = & O = O Description Part No.
19,2+02
215 — SAL12-DK4-8
U 2RS$3-0,3/0,3/K1 4316267
Width across
flats 13
%) SAL-12-DK4-8-
— S 06 Jrs306/06/k1 4310268
2 —-f 8
Sama il
: 4 3 3 ~ 3025
s : 2
\—-4 2 15 SAL12-DK48- e
o > 2RS3-15/1,5/K1
Width across
fals & SAL-12-DK4-8-
3 JRs33/3/K1 C SRR
TPU, UL, halogenfree, black, Li9Y11Y
15,402
192202 0145 03 SAL12:DK48. i
; = 2RSW3-0,3/0,3/KI
Width across
3 flats 13
%) SAL-12-DK4-8-
)_,—-4 S b 2RSW3-0,6/0,6/K1 C SRS/
2 f 8
;2 { 4 3 3 N 302
et 4>—| ! <
b3
4}3 z 15 SAL12-DK4-8- e
ity acoss o > 2RSW3-15/1,5/K1
VAR
- SAL-12-DK4-8-
200 ; 3 oRsW33/3/K1 4316279
TPU, UL, halogenfree, black, Li9Y11Y
15,4202
19,2102
SAL-12-DK5-
vz 2RS5.2-0,3/0,3 /K1 AERIEAY
Width across
flats 13 .
— SAL-12-DK5-
JEN 08 Jrss206/06/k1 4316288
5 F— I—-w
: o 5 5 5 60 4 034
40— —
w3 [1
L. SAL-12-DK5-
. [ 2RS5.2-1,5/1,5/K1 GEH[ERR)
Width across
flats 13
SAL-12-DK5-
3 JRs5.23/3/K1 4316290

Technical information starting on page 348 CONEC® 313



=
<< @& O s
g 88 £E
\ @\ @\ ~
g 8 8= 8§ 5
S o S > O
S§&&55 8%
S & S 3 S y =
S 8§83 %8 S 3
. HHHBH
TPU, UL, halogenfree, black, Li9Y11Y Contactassignment = = = & O = O Description Part No.
154102
M12x1 14,5
. SAL-12-DS4-8-
e 2RK3-0,3/0,3/K1 4312463
Width across
flats 13
%) SAL-12-DS4-8-
—_,—o ~ 08 JRk3-06/06/k1 4312464
2 S 2
R 4 3 3 ~ 3025
4 ! %()
]
——I_J® 2 15 SAL12-DS4-8- PG
o > 2RK3-15/1,5/KI
Width across
flats 9 SAL-12-DS4-8-
3 JRK33/3/K1 43-12466
TPU, UL, halogenfree, black, Li9Y11Y
19,2+02 15,4+02
SAL-12-DS4-8-
Mi2x1 214,5 g
U2 2RKW3-0,3/0,3 /K1 4312467
\—W\dth across
fats 13 %) SAL-12-DS4-8-
—_,—o N 06 2RKW3-0,6/0,6/K1 43-12468
2 S 2
.z ‘Ei 433 5 3025
4 ! <
]
: ——I_J® 2 15 SAL12DS48- BN
ol > 2RKW3-1,5/1,5/K1
Width across
flats ¢
SAL-12-DS4-8-
3 JRKW33/3/K1 Sarl
20
0145
M12x1 16
—r
1 (&}
T 2
: ) —(3% o
|™—width across . 1 ©
. Eﬁ Pt %j 4 3 3 N 3 SAL-12-DS4-8-2DK3  43-05117
) : H%@ S
i >
fxg'dstgacmss ——I—O 8

314 CONEC®

Technical information starting on page 348




=
<< @& O s
g 88 £E
[y [ [y ~
g 8 8==< 8 5
S o S > O
S 2 E g s R F
S 8§ 8 3§ 8§ gy =
S$ § 8§ S & & S
S © 9 ©§ § S o
. H e
TPU, UL, halogenfree, black, Li9Y11Y Contactassignment = = = & O = O Description Part No.
18,2202 15,402
M12x1 14,5
SAL-12-DS5-
03 JRks.2-03/03/k1 4312603
Width across
flats 13
.
— 06 SALl2DS 4312604
—C "®  2RK5.2-0,6/0,6/K1
s —(z
S5em—9 1
. [1 5 5 5 60 4 034
R — SAL12-DS5
& 1,5 alpas 43-12605
& 2RK5.2-15/1,5/K1
SAL-12-DS5-
3 JRK523/3/K1 4312606
llat_s13
TPU, UL, halogenfree, black, Li9Y11Y
19,2402 15,4402
M12x1 0145 SAL-12-DS5-
% 03 JRkws2:03/03 k1 4312607
)‘Nidtrisacross
lats C4
& 0p SAL12DSS- ENPET
—C 2 2RKW5.2-0,6/0,6/K1
s —(z
S5em—9 1
! { 5 5 5 60 4 034
R — SAL12-DS5
D 1,5 Y 43-12609
& 2RKW5.2-1,5/1,5/K1
Width across
flats 13
SAL-12-DS5-
3 JRKWS.2-3/3/K1 ALy

Technical information starting on page 348 CONEC® 315



316

—
<< @ O NE
S 3 S £'F
R T B o
8883 s ¢
2 2 8 &8 2 8 s
(N T = A
Qo je} je} B E m <
S 3 8 > = £ =2
S © 9 ©§ § S o
. S S5§5 &8
PVC, grey, LiYY Contact assignment = = = & G = O Description Part No.
56 SAL-12-TS4-TK4-8-
widtn across —_ | 26 03 RK4-0,3/A1 43-05122
flats 13
@)
of s o a
x| 7K BT W (IFE ¥ 1—y—1 >
&8s @J & ) fo S
¢ \_;[ Width across 8 L8 4 4 4 S 3 0'25
flats 13 4 /I\ 4 4
>
+ L&) DD, 3
- LN
SAL-12-TS4-TK4-8-
3 0,6 RK4-0,6/A1 43-05123
Width acrass
flats 13
TPU, UL, halogenfree, black, Li9Y11Y
® SAL12-TS4-TK4-8-
W acroso— | 03 RK4-0,3/K1 43-05124
ats 13
oF : 2
5|€ =1 i ! >
="k o 2 (2 2
Ej Width across 3 {38 4 4 4 ~ 3 025
flats 13 Q
) /I\ r) <>(
D
. - DR 2
SAL-12-TS4-TK4-8-
3 0,6 RK4-0.6/K1 43-05125

Width across
flats 9

CONEC®

Technical information starting on page 348




—
< @@ O NE
S 8 3 S
@\ ! @\ ~
g o8 == S|=
£ 88 28§ s
5 %5 5 & 8§ 4
ISy = vl <
S I 8 > = & =
S © 9 ©§ § S o
. S S5§5 &8
PVC, grey, LiYY Contact assignment = = = & G = O Description Part No.
SAL-12-TS5.1-TK5.1-
03 RK5.1-0,3/A1 43-05118
1——————— 1
2 2
3 3
4 + 5 5 5 60 4 034
5 L(L 5
56 1 2 3 4 5
Width across — 26
e SAL12-T55.1-TK5.1
-t 06 RK5.1-0,6/A1 43-05119
- | )
8 Width across
flats 13
N Width across SAL-12-TS8-TKS-
flats 13 03 RK8-0,3/A1 43-05126
T ¢
’2 2
. )
: 8 8 8 30 2025
'
: e
12345 )6\)7\%
SAL-12-TS8-TK8-
0,6 RK8-0,6/A1 43-05127
TPU, UL, halogenfree, black, Li9Y11Y
SAL-12-TS5.1-TK5.1-
03 RK5.1-03 /K] 43-05120
1——————— 1
2 2
3 3
4 + 5 5 5 60 4 034
5 L(L 5
1 2 3 4 5
56
Width across — 26
flats 13 SAL-12-TS5.1-TK5.1-
| " 08 Rys1.06/K1 4305121
=) MlEIE
- T
« l: Width across
:L flats 13
I
3 SAL-12-TS8-TK8-
mciﬂ::cross 0,3 RK8-0,3/K1 43-05128
T ¢
’2 2
4 4
M 5 8 8 8 30 2 025
6 T 6
: e
12345 )6\)7\%
SAL-12-TS8-TK8-
0,6 RK8-0,6,/K1 43-05129

Technical information starting on page 348 CONEC® 317



<T @ O
T 3 3
g 8 8 & °
Y S S S S
je} Qo o B E
S S S = =
Q Q Q = S
s 5 5§ ¢
Contact assignment = = = & O Description Part No.
1 -— (1
2 (2
3 (s 4 4 4 250 4 SAL-12-TS4-TK4-TK4  43-05115
4 C
N ’aVID
————(1
2 2
3 3
4 ? A - 5 5 60 4 SAL-12-TS5-TK5-TK5 ~ 43-05116
36
14,5 5 5
M12x1 123 AA\%
(AR 11
M X\éltds(r;;cross » »
3 8 SAL-12-TS5.1-TK5.1-
8| 4 ? A 5 5 5 60 4 TK5.1 43-05114
N 5 5
123 AA\KSL
Width across
flats 13
T -
2 2
4 4
: : 8 8 8 30 2 SAL-12-TS8-TK8-TK8  43-05142
v
: Tz
12345 )6\)7\%
1 -— (1
2 <2 SAL-12-TSE4-TKEA
3 (s 4 4 4 250 4 43-05155
- TKE4
4 (a
N ’aVID
————(1
2 2
3 8 SAL-12-TSE5-TKE5-
o 4 ? 4 5 5 5 60 4 TKES 43-05156
5 5
16 M12x1 AA\%

: Width across| R !
flats 14 2 2
s s SAL12-TSES.1-TKES.1-
8| 4 ? A 5 5 5 60 4 TKES. 43-05154
N 5 A\(L 5
45

Width across
——— flats 14

- .
2 2

: : SALT2-TSEB-TKES-

: — 8 8 8 30 2 qg 43-05153
; moH

1273 45)6\)7\%

318 CONEC® Technical information starting on page 348



< [=4]
s 3
[ [ — ~
g & = =
T 3 § ¢
S S & IS
o o S =
£ 3 s B
Contact assignment = = < QO  Description Part No.
1-—(C
0145 22— 02
o = 4 4 250 4 SALI2TS4TKA 43-05130
4m——(a
Width across 1—aQ
flats 13 22
a0 5 5 60 4 SAL-12-TS5-TKS 43-05131
4m—T(a
s=——(5
| — Width across
flats 13
11—
2—2
3=—(3
44
s Cs 8 8 30 2 SAL-12-TS8-TK8 43-05113
6=—6
7—(7
g=—(8
-—{
202
2t — (3 4 4 250 4 SAL-12-TSE4-TKE4 43-05150
44
) -—C
x\éﬁ(::cmss ) 5
=0 5 5 60 4 SAL-12-TSES5-TKES 43-05151
44
se———(5
1-—(C
2—02
3=—(3
44
s : e 8 8 30 2 SALI2TSESTKES  43-05149
ats 14 o Co
7—(7
g=—(38

Technical information starting on page 348 CONEC® 319



320

< Q
s 3
A A — -~
g & = =
g 8 & 2
S S S =
o o - E
5 8§ £ =
<Q <{Q
Contact assignment = = = QO  Description Part No.
2145
M12x1
(LTI swia/
HF& :ndt:\aacross
lats.
—_—
— -
E] — 5 5 60 4 SAL-12-TS5.1-TS5.1 43-05133
—
f— -
SW13/
witdth across
flats 13
M12x1
?14,5
M12
Width across
flats 14 |
— -
ol e e — 5 5 60 4 SAL-12-TSE5.1-TSE5.1  43-05152
—_—
— -
1
|
‘ } \W\d(h across
flats 14

Vo o)
A\ T4

INEC®

Technical information starting on page 348




Male connector 7/8"

2 x Female connector 7/8"

Contact assignment

Number of poles Side A
Number of poles Side B
Number of poles Side C
Rated voltage [V]
Current rating [A]

Description

Part No.

P25
7/8"16UN

61

\l

&

TIM

=

LN

o

@25

2+PE 2+PE 2+PE 250 10

SAL-7 /8-TS2PE-
TK2PE-TK2PE

41-30001

@25

61

7/8"-16UN

¢

"

o

g

i

6}

@25

" 4+PE 4+PE 4+PE 250 10

SAL-7 /8-TS4PE-
TK4PE-TK4PE

41-30002

ApxaHrenbck (8182)63-90-72
AcrtaHa (7172)727-132
AcTtpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropog (4722)40-23-64
BpsiHck (4832)59-03-52
BnaguBocTok (423)249-28-31
Bonrorpan (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuH6bypr (343)384-55-89

Mo Bonpocam npogax u noaaepkku obpaljantecs:

VBaHoBo (4932)77-34-06
Wxesck (3412)26-03-58
KasaHb (843)206-01-48
KanuHuHrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
Jvneuk (4742)52-20-81

MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93

Hab6epexHble YenHbl (8552)20-53-41

HwxHuin Hosropop (831)429-08-12
HoBoky3HeLk (3843)20-46-81
HoBocubupck (383)227-86-73
Owmck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

Mex3a (8412)22-31-16

Mepmb (342)205-81-47
PoctoB-Ha-[oHy (863)308-18-15
PssaHb (4912)46-61-64

Camapa (846)206-03-16
CankT-lMeTepbypr (812)309-46-40
Capatos (845)249-38-78
CeBacrtononb (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coum (862)225-72-31
Craspononb (8652)20-65-13

EavHbin agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

Cypryt (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHOBCK (8422)24-23-59
Ydpa (347)229-48-12
Xabaposck (4212)92-98-04
YensbuHck (351)202-03-61
Yepenosed, (8202)49-02-64
Apocnasnb (4852)69-52-93




